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Sl NSAE SHES EERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 35,000
< 7,000
Al 28,000
301 LEXZ 58,000 58,000 0
= 29,000
< 5,800
Al 23,200
09 HALAHIX &S 10,000 10,000 0
OXIAte SSHES dAY =& 10,000
= 5,000
< 1,000
Al 4,000
12IJEeEd=s 48,000 48,000 0
OXYAe Sgss dZAY =2 48,000
= 24,000
< 4,800
Al 19,200
307 glz2tol & 1,764,500 1,550,900 213,600
= 744,750
S 148,950
Al 870,800
11T M Z2XAISE EX 1,764,500 1,550,900 213,600
OXYAtsl Sgss dZAY =2 1,764,500
= 744,750
< 148,950
Al 870,800
AMBE EEXIATRE 2 300,000 300,000 0
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307 21201 A 300,000 300,000 0
= 150,000
< 150,000
11T MISRAISEX 300,000 300,000 0
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= 150,000
< 150,000
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201 £B-2dH| 30,000 30,000 0
01 At 22/l 30,000 30,000 0
OXSAte SetEs =0 30,000
B2 AL X2 218,700 208,700 10,000
= 16,200
Al 202,500
HHHOlE At 10,000 10,000 0
201 ¢4l 10,000 10,000 0




<

n0

Kio

Hl w

10,000

10,000
156,200

25,200

14,555,877

H3r
Wikd
RIS

10,000

50,000
50,000
50,000

20,000
20,000
20,000

32,400

32,400

32,400

96,300

96,300
78,100

18,200

221,314,886

Off &t 24

10,000
10,000

50,000
50,000
50,000
20,000
10,000
20,000

20,000
20,000
20,000
10,000
10,000

32,400
16,200
16,200
32,400
16,200
16,200
32,400
32,400
16,200
16,200

106,300

H

Al

H

Al

H

Al

106,300
93,300
68,300
25,000
13,000

3,000
5,000
5,000

235,870,763
180,453,403
119,660
10,189,376
45,108,324

H

A2 S HI

H

=3

3l

03

10

-

Kk

ol

0

ll
ol

oJ
H

o}

o}

5l
ul
Hi
1of

ok

-

<0

-

<0

70

o

0t
=
0

o0

H

R
o

H

3)
Mo

-

fir

R0

Kk
Kl

307 21201 A

3J
[0

-

ol
fir
R0

KF
K]

%

=P APN

Ab &

0
ol

307 glztol &

Ki
™

30
OH
RO
7l
R

~

ol

(E=AIM

(=)
I%:'

H= ALK E
= AKX
HHolY E&&X

Lolg
3| = Xl A

=l

11 Al

H

Ko

I

oJ
H

94,000
94,000
94,000

50,000
50,000
50,000

144,000
144,000
144,000

Al

=




2N SE=E
HE: =3 =X 53
ool Lo=X FX (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O=EHL2 S=H K& 144,000
=2 219,895,886 206,859,523 13,036,363
= 175,916,709
= 8,795,835
Al 35,183,342
301 et A= 219,895,886 206,859,523 13,036,363
= 175,916,709
& 8,795,835
Al 35,183,342
01 Al B & A 462 219,895,886 206,859,523 13,036,363
OPIES L= 219,895,886
= 175,916,709
& 8,795,835
Al 35,183,342
Lolsts=sHElA AFY 6,956,321 6,517,760 438,561
= 4,536,694
o=t 680,504
Al 1,739,123
307 2I2t0| A 6,956,321 6,517,760 438,561
= 4,536,694
o= 680,504
Al 1,739,123
11 A EXAIEEX 6,956,321 6,517,760 438,561
oLolgsS=sAHMEA AIE 6,956,321
= 4,536,694
& 680,504
Al 1,739,123
SHEQ SSHMO S3AHEAEH A 2N 245,320 206,524 38,796
J| 119,660
Al 125,660
307 2izto| A 245,320 206,524 38,796
J| 119,660
Al 125,660
10 MM SAANEEHESIGHEX 245,320 206,524 38,796
OSHLQ ESESHMO SAHM LS MHHA 2
A 245,320
J| 119,660
Al 125,660
LoExs 24 4 577,117 4,314,700 262,417
307 2iz2to| A 4 577,117 4,314,700 262,417
05 QIZ2tRE 2 4 577,117 4,314,700 262,417
oetsLo=x2 849,377
o2 -o=2x 2 515,129
OMELoIE2X 2 855,988
OY & Lol =X 2 708,235




N SESSH
g 2 =1 sd
Sel: Lol=x S CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o dio = HImEET
0 &
OLX o= 2 876,792
OZZFOA=EN2 771,596
LolERa JIsEH 50,000 0 50,000
401 AIEHIZL 2CHEI 50,000 0 50,000
01 A& Hl 50,000 0 50,000
ONLQ=EX2 IS (&0 0 A 50,000
Losxa JsELd (= ZHO0A) 64,014 90,000 A 25,986
= 64,014
402 RI2EX=0| M 64,014 90,000 A 25,986
< 64,014
02 QI EASEZ (01X S) 64,014 90,000 A 25,986
OXL IOl =A=SX2 AL 2HZHE AL 20,000
= 20,000
OLXN-o=EX2 stEA HE > 14,014
< 14,014
OXN=X2 2 ItE &1 30,000
< 30,000
Lol=R& BSAN EE€E 147,240 128,240 19,000
< 44,172
Al 103,068
307 glz2tol & 147,240 128,240 19,000
< 44,172
Al 103,068
11T MISAASEX 147,240 128,240 19,000
OLe=sIa SAX S8 147,240
< 44,172
Al 103,068
ABIZXIAL 2 XILE K& 170,700 136,500 34,200
307 21201 A 170,700 136,500 34,200
11T AL SXAEE = 170,700 136,500 34,200
OLQAIZAI=ZRAL EXILE K& 170,700
@It =X AlA 2312 *300,000& 69,300
@ QI MEAHL 17128 +300,000& 51,300
@ =X 2 979 +300,000& 29,100
OANMLINHZH 46% 300,000 13,800
OLOUBEESEAHUASHIB
249 +300,000& 7,200
Lo=EA2 g0y 29 & 307,294 301,456 5,838
< 25,616
Al 281,678
307 21201 A 307,294 301,456 5,838
= 25,616
Al 281,678
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Sel: Lol=x S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 307,294 301,456 5,838
okLol=Xa A=z 249 XN 307,294
= 25,616
Al 281,678
cosX2E A¥e 23 7,500 3,000 4,500
201 L2l 7,500 3,000 4,500
01 At 22l 7,500 3,000 4,500
OZd2Y NERES, LUEIAI2 AR
23 s 29 7,500
LOSEE 2SHUAMHIA 22lA 177,372 168, 360 9,012
< 53,212
Al 124,160
307 glz2+ol & 177,372 168, 360 9,012
< 53,212
Al 124,160
11T MISRASEX 177,372 168,360 9,012
OLQSEE 2SHEANHIA 22| At 177,372
< 53,212
Al 124,160
tHeteols 23 224l K& 59,700 59,700 0
307 21201 A 59,700 59,700 0
10 ALSISXAIEEE2IHEX 59,700 59,700 0
Olfst-olsl 23 29H X& 59,700
LQ0IBAE RAES 565,000 565,000 0
402 2I2H X201 M 565,000 565,000 0
01 2I2F 2 A B (RERTH ) 565,000 565,000 0
OZI2Y S TQ0EANE IIsEZAY 565,000
22" 243 N 34,000 34,000 0
307 glz2tol & 34,000 34,000 0
11T M Z2XAS EX 34,000 34,000 0
ozzg 43 XA 34,000
2z 3249 XA 1,391,049 1,059,443 331,606
< 247,538
Al 1,143,511
307 21201 A 1,391,049 1,059,443 331,606
< 247,538
Al 1,143,511
11T MISRASEX 1,391,049 1,059,443 331,606
2 F2AE N 1,391,049
@c= Al 1,114,050
< 247,538
Al 866,512




N SESSH
HE: =3 =X 53
ool Lo=X FX (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
@ Tl Q1| 276,999
Hs2H MAS MOt AAHE 843,300 574,380 268,920
< 205,200
Al 638,100
301 LA S 22,500 22,500 0
12 JIE24 3 22,500 22,500 0
OHS=HE MAS MIot=Ql AAHE N2 SA
i 24 22,500
307 glz2tol & 820,800 551,880 268,920
< 205,200
Al 615,600
11T MISRASEX 820,800 551,880 268,920
ONs=H HAS It AAHHE 820,800
< 205,200
Al 615,600
Lol 2435 AtY 198,150 194,300 3,850
< 38,285
Al 159,865
307 21201 A 198,150 194,300 3,850
= 38,285
Al 159,865
11T AL SXAIEE = 198,150 194,300 3,850
OLols 43 AIY 153,150
< 38,285
Al 114,865
OZ2Y HIALS 45,000
Lo=ENYR =& 1,800 2,000 A 200
203 YR =2t 1,800 2,000 A 200
03 AIMFAH S =AY 1,800 2,000 A 200
ore=ige =a 1,800
L5 A2AY JIsEL (T F0HU) 35,000 0 35,000
< 35,000
402 RI2FXt20l 35,000 0 35,000
< 35,000
02 2IZE 2 AL EZ (O TH ) 35,000 0 35,000
O3dA=EXR RRI2AY SZMA 35,000
< 35,000
=4 XA 50,251,599 42,963,689 7,287,910
= 25,173,545
= 10,266,167
Al 14,811,887
L OlY R At 47,485,421 40,792,002 6,693,419
= 25,173,545
< 10,069,419
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SAH-EB .S (3H) - HEAY - BE2 ﬁlf& HD=2
COFHAXNNJALMEH 2 243,536 219,437 24,099
307 212t01 & 243,536 219,437 24,099
05 A2t &= 243,536 219,437 24,099
Ol FYAA 29 243,536
[ Jelals]l 163,806
@ =Z bl 42,180
@ Al &I 1,080
@ At ] 23,470
@< E 22|l 13,000
Lol Hel Ot ALY 733,988 704,770 29,218
307 212t0| & 733,988 704,770 29,218
05 A2t E = 733,988 704,770 29,218
oOLoldHe O A Y 733,988
@2l A b 618,828
O=2dH (428 ) 115,160
LolsgasAN 249 50,000 50,000 0
301 dEtEX = 50,000 50,000 0
01 M EXEE %562 50,000 50,000 0
OLomasSAIU 28 AHE4 46,800
ORI EANU SHAHH| 3,200
ANLOIZ2E 2%l ,070,000 980,000 90,000
& 96,000
Al 974,000
307 212t01 & ,070,000 980,000 90,000
& 96,000
Al 974,000
10 Al SEXAIEEE2IHIBX ,070,000 980,000 90,000
OALIEYE 2948I(3MAa) ,070,000
T 96,000
Al 974,000
AMLIEE SAA S84 29,160 24,480 4,680
& 8,748
Al 20,412
307 QI2t0| ™ 29,160 24,480 4,680
= 8,748
Al 20,412
11 AR SXAIEE 29,160 24,480 4,680
OAILIHZEY SAA S8 29,160
& 8,748
Al 20,412
ALINE2E JIsEL(Z 200 92,000 30,000 62,000
T 92,000




SN SBSED
M L2 =X &
Chelt LEME X @ CEEEED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
402 BI2FX=01 M 92,000 30,000 62,000
< 92,000
02 QI E2AL EZ (OIS ) 92,000 30,000 62,000
OLolgdRtel AL ZE SAMHAY 20,000
< 20,000
OSXAILINEY A4 JIsE2 52,000
= 52,000
OE=NIANLINEY ANE JIsES 20,000
< 20,000
Lolgdxiel MEI|& A2 HES 380,116 0 380,116
401 Al B2 2B 380,116 0 380,116
01 A& HI 380,116 0 380,116
LolgdXtel Mgl Asg HES(HFALA
22 380,116
EolAlE NI & 25,865,820 24,210,930 1,654,890
= 2,931,504
= 8,169,304
Al 14,765,012
LR UYZ AL XA (HSAY) 772,210 651,237 120,973
< 615,912
Al 156,298
307 2Iztol ™ 772,210 651,237 120,973
< 615,912
Al 156,298
10 MBI ZXNANEHI2IHE=S 772,210 651,237 120,973
oLeRadZA4 XA 772,210
< 615,912
Al 156,298
LolMetAld XA 7,921,720 7,931,390 29,670
< 5,545,202
Al 2,376,518
301 LPEAZF 7,921,720 7,931,390 A9,670
< 5,545,202
Al 2,376,518
01 MEIBEE 063 7,921,720 7,931,390 29,670
O daAd XI& 7,921,720
< 5,545,202
Al 2,376,518
COIMEBAIY BEALL SEEE 400,000 400,000 0
< 120,000
Al 280,000
307 Qiz2tol & 400,000 400,000 0
< 120,000
Al 280,000
TASISXIAFE E & 400,000 400,000 0
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N SESSH
g 2 =1 sd
el L olAlE KR (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMIMI=A=SIAE SMLT S8 114,840
< 34,452
Al 80,388
colgolAvee 29 123,552 123,552 0
< 37,065
Al 86,487
307 21201 A 123,552 123,552 0
< 37,065
Al 86,487
10 ALSISEXAIEEE2EHEX 123,552 123,552 0
OLeldolHNeEH 2 123,552
< 37,065
Al 86,487
L QAAE EFSAY 1,018,320 775,800 242,520
= 723,000
< 117,108
Al 178,212
402 RI2EX20| N 1,018,320 775,800 242,520
= 723,000
< 117,108
Al 178,212
02 22t 2 A EZ(OI X TH ) 1,018,320 775,800 242,520
OLQQUANE S#FDIsEL)AY 1,018,320
= 723,000
< 117,108
Al 178,212
S8 XNHEEE SELAE AE 1,496,731 0 1,496,731
= 1,330,427
< 166,304
401 Al HIZ 2018 1,496,731 0 1,496,731
= 1,330,427
< 166,304
01 A& HI 1,496,731 0 1,496,731
O38 XNMESEE SELALE 2 1,496,731
= 1,330,427
< 166,304
SHSBA 2e22g KA 619,386 674,066 A 54,680
309 HES 619,386 659, 066 A 39,680
01 SAt- SHINEES 619,386 659, 066 239,680
O=SXANS3EX 2el2d X 619,386
CosXdH JIsB2 (S ZO0a) 13,000 0 13,000
< 13,000
402 2I2H X201 M 13,000 0 13,000
< 13,000
02 QI 2 A EZ(OI X THS) 13,000 0 13,000
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